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Guess Paper – 2012
Class – XII
Subject – Mathematics

Revision 1
Section A (1X4=4)
1. The intervals in which the function f(x)=20-9x+6x
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 is strictly increasing or strictly decreasing are ____?

2. Show that the function given by f(x)=2x is not invertible.

3. The principal value of cos
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4. Let A=
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B is a function defined as f(1)=4, f(2)=5, f(3)=6.Write down f
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as a set of ordered pairs.

Section B (4X7=28)
5. If A =R-
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 and B= R-
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and f:A
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B is  a mapping defined by f(x)= 
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. Show that f is bijective. Also find the inverse?
6. The two equal sides of an isosceles triangle with fixed base b cm are decreasing at the rate of 3cm/sec.How fast is the area decreasing when the two equal sides are equal to the base?

7. Find the point on the curve x
[image: image13.wmf]2

=8y which is nearest to the point (2,4)?

8. Solve for x if : tan
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9. If (x-a) 
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+(y-b) 
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=c
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 for some c>0, prove that 
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is a constant independent of a & b.

10. Prove that the curves y
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=4ax and xy=c
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 cut at right angles if c
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=32a
[image: image26.wmf]4

.

11. Show that the height of a cylinder of maximum volume that can be inscribed in a sphere of radius R is 
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Section C (6X3=18)
12. If cos
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a+ cos
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b+ cos
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c=
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, then prove that a
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+b
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+c
[image: image34.wmf]2

+2abc=1.
13. An aero plane can carry a maximum of 200 passengers. A profit of Rs.400 is made on each first class ticket and Rs. 300 is made on economy class tickets. The airline reserves at least 20 tickets for first class seats. However at least 4 times as many passengers prefer to travel by economy class as compared to the first class. Determine how many tickets of each type must be sold in order to maximize the total profit for the airline. Solve the problem graphically.

14. Show that the volume of the greatest cylinder which can be inscribed in a cone of height ‘h’ and semi vertical angle 
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Revision 2

Section A
1. If f(x) =
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is continuous at x=0, find k.

2. Find x ,if
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3. If A=
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4. X+Y=
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Section B

5. Find the value of x if 
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6. Using Properties of determinants to prove:
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7. If A=
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Show that adjA=3A’

8. If 
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9. Given that f(x)=
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is continuous at x=0, Find the value of ‘a’.
10. Discuss the continuity and differentiability of the function f(x)=
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11. Discuss the applicability of Rolle’s Theorem for the function f(x) =
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Section C

12. Solve the following system of linear equation using matrices method: 3x+4y+2z=8; 2y-3z=3; x-2y+6z=-2.

13. Solve using properties of determinant
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14. Using elementary row transformation find inverse of the given matrices
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